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Version 127 Exam Time :12:30 - 14:00

Question No. 1
What is 1 Dioptre equal to?

A)1cm’ B)1 mm’’

C)1 dm™ D)1 m’

1 s™@ceT & e BT &

A)1 cm B)1 mm-'

C)1 dm- D)1 m™

Answer Key : D Your Response : Not Answered

Question No. 2
Choose the pair in which the words show the same relationship as in the pair given below.

Face : Eye
A)Book : Copy B)Head : Hair
C)Shirt : Pant D)Boat : Sky

39 gIA F g OTEH e A QU AT JIH F @AW HEU AT Bl

ERSUIIEC]

A)qETH: It B)RAR: sTer

C)erc: ¥ D)=Ta: 3Tehrer

Answer Key : B Your Response : B (Correct)

Question No. 3
If Rs.750 amounts to Rs.1000 in 5 years, then what will it amount to in 10 years at Simple

Interest?
A)Rs.1500 B)Rs.1250
C)Rs.2000 D)Rs.1750

gfg §.750 &Y T FTYROT sITST 9T 5 auf & $.1000 g AT &, aF ITYRIT IS 9T 10 Iut & IJg
Tfyr fpa=T g SATwefr?

A)%.1500 B)%.1250
C)%.2000 D)%.1750
Answer Key : B Your Response : B (Correct)

Question No. 4

What is the pH of lemon juice?

A7 B)2.2

C)9 D)5.4
Allgovernmentjobs.in



g & @ #1 pH AT Fhdar g2

A7 Allgovernméigjdbs.in
C)9 D)5.4
Answer Key : B Your Response : B (Correct)

Question No. 5
Complex carbohydrates which make up cell wall in plants are called-
A)Sucrose B)Cellulose
C)Lactose D)Maltose

qigtT & Fifeeer fAfca &1 AT & arer Sfcea FEfeEge & FAT F7 AT §2

A)gehlst B) @cfellel
C)elaeiat D)ATects
Answer Key : B Your Response : B (Correct)

Question No. 6
Which of the following does NOT change when a chemical reaction take place?
A)Mass B)Physical properties
C)Volume D)Chemical properties

aafas JAfATRAr g o AFafaf@a § @ Far a8 sgaar g2

A) g HTT B)silfe aroT
C)3melst D) feieh aor
Answer Key: A Your Response : A (Correct)

Question No. 7
Arul walks 100 m towards east and then 80 m to his right. Then, every time turning to his left, he
walks 50, 150 and 150 m, respectively. How far and in which direction is he now from the starting

point?
A)70 m, south B)80 m, north
C)100 m, north D)70 m, north

¥ qd @1 3T 100 AT Fordr § 3T 3qE a1 39T g8 3T 80 #HeT Iorar &1 Y, 8T IR 39eiT
91 T HSA §C, 9€ FAW: 50, 150 AT 150 #AeT gaar gl 39 98 GRfeHs fNig & - g7 3R
g fgem & g7

A)70 #Hrex, gfaror B)80 HIeX, 3ciX
C)100 #rex, 3o D)70 e, 3e
Answer Key : D Your Response : D (Correct)

Question No. 8
Which of the following countries was the host of FIFA World Cup 20187
A)Denmark B)Spain
C)Russia D)Belgium

AEafaf@a & @ +ia ar U FIFA 33 &9 2018 &T AFTT & AT ?
A)STHTR B)¥ua
c)&a

D)afesras
Answer Koy : C Allgovernmentjolgsd

o !'r&esponse : C (Correct)



Question No. 9

Does the mass of an object vary from"gmmm@qﬁobs_in
A)lt varies in high altitudes B)lt varies in hot places alone

C)No, it is constant in all places D)lt varies in poles alone

FIT fohdl a€g o1 GeTATH IHMIT-3eld TUTAT 9T fHead grer g7

A)TE FT™w Fas W B giar gl B)dg %had I TR H Feet grar gl
C)agl, Ig Tl gl W B T@ar & D)aE Faa gat 3 et grar B
Answer Key: C Your Response : C (Correct)

Question No. 10
Find the ODD one out from the given options.
A)38, 18 B)35, 15
C)83, 63 D)36, 12

feuw arv fawedl # & rEerd & o |

A)38, 18 B)35, 15
C)83, 63 D)36, 12
Answer Key : D Your Response : D (Correct)

Question No. 11
Which of the following parts are cleaned using ultrasound?
A)Simple parts B)Easy to reach parts
C)Hard to reach parts D)Big parts

EAfafea & @ o gaif &I egramss &1 39T #Th qh AT Sirar g2

A)ETEROT Jof B) 3T T arel Jof
Cfoet o arer gsf D)s2 3R & Tof
Answer Key: C Your Response : C (Correct)

Question No. 12
A pipe P can drain out water from a tank in 20 hours. Another pipe Q can drain 20 litres per hour.
If both drains are opened, the tank is emptied in 12 hours. What is the capacity of the tank?
A)600 litres B)800 litres
C)400 litres D)650 litres

T&H 989 P, 20 9C H TH &F ¥ @I G AE FHar g1 UF T 99 Q, gfy 6¢ 20 ofey arer
fAFHTT ThaT &1 Ife ST grsal & @i &JT Jrar g, ar &F 12 "el # @l & arar g1 && #ir
AT ATd ST

A)600 e B)800 @lex
C)400 e D)650 elex
Answer Key : A Your Response : Not Answered

Question No. 13
If the volume of a sphere is divided by its surface area, the result is 27 cm. Find the radius of the
sphere.

A)81 cm B)27 cm
C)243 om Allgovernm%r)’gjcont])s.ln



T Al & AT H 3qh IS AIIVERREIIGOF 0y o 5eax 27 e wrem grar g1 e
a1 s AT Hifew

A)81 Y B)27 @A
C)243 a#r D)9 TAr
Answer Key : A Your Response : A (Correct)

Question No. 14
Which of the following is more environmental friendly?
A)Burning of charcoal B)Burning of wood
C)Burning of diesel D)Burning of coal

FEafaf@a & @ #ia a1 gaiawor & s g 872

A)THREr & FITel AT STelell B)cTehal T STelelT
C)3rSTel &I STelelT D)&Iel I STelelT
Answer Key: A Your Response : B (Wrong)

Question No. 15
If 12 men and 6 boys can do a work in 4 days and 4 men and 14 boys can do the same work in 8
days, find the ratio of efficiency of a man to that of a boy.
A)2: 11 B)2:5
C)3:7 D)11:2

g 12 99 3R 6 o5h fhdl &1 &1 4 AT & T G § 3T 4 ge¥ 3T 14 o5 38 A & 8
At & T ghd &, o T AT HX UH o5 T &THAAT HT IFUIT AT HITAC

A)2 : 11 B)2 : 5
C)y3:7 D)11 : 2
Answer Key : D Your Response : D (Correct)

Question No. 16
A watch reads 4:30. If the minute hand points east, in what direction will the hour hand point?
A)North east B)South east
C)North west D)North

T "3 4:30 & AT AT §1 I fAwe areh gs 9@ T N s wwc &, O 92 are g e
feer # grefr?

A)3eR d B)&faror qd
C)3ccX uiR=H D)3e®
Answer Key : A Your Response : A (Correct)

Question No. 17
From the set of prime numbers between 50 and 100, how many pairs of prime are there that add
up to a prime number?
A)2 B)O
C)3 D)1

50 3R 100 & oMo HHT FCABARGEEErINBNFIOSIFTIET & fFaar g & Feg shga W
IHTST TEAT &Y 9red grar &2




A)2 B)O
C)3 Allgovernménitjobs.in

Answer Key: B Your Response : Not Answered

Question No. 18
Which word will best complete the relationship given below?

Fire : Ashes :: Explosion : ?

A)Sound B)Debris
C)Explosive D)Flame

i |1 Aeg A1 fET T FEY T Hafedd T @ OV HaM?

T ;W fFEHE ;2

A)eafer B)#HemaT
C)faTwhicsh D)ait
Answer Key : B Your Response : B (Correct)

Question No. 19
In this question, a statement is given followed by three conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
U=V<W<Z

Conclusions:

. W>U
IN.z>U
. z< U
A)Only conclusion lll is true B)Only conclusions Il and lll are true
C)Only conclusions | and Il are true D)Only conclusions | and lll are true

U g #H, &y fagr awar § forae 9¢ de ey e v §1 39 fosay &) (37 et @) ge
ST drfehes €9 @ H99 3UgFA ¢

IGACO B

. W>U

.z >U

. z < U

A)daer fAswy 11l T &1 B)dhae sy 11 3R 11l TEr &1
C)aad fasey | 3R 1l T Bl D)dae sy | 3R 11l T@&r g1

Answer Key: C Your Response : Not Answered

Question No. 2

Find the mean of the first 10 conseéﬁug@éﬁﬁr}mﬁ@é@bs-i”



A)10 B)11
C)13 Allgovernméntfobs.in

ggell 10 AT [avdH FEIATHT FHT ATET(mean) AT FHITAT|

A)10 B)11
C)13 D)15
Answer Key : A Your Response : A (Correct)

Question No. 21
Which word will best complete the relationship given below?

Cube : Square :: Square : ?

A)Triangle B)Line
C)Point D)Arc

i @1 wsg A QU ot H@ay & wafedd g1 @ qUT HaM?

ga ;g ;g ?

INEEE] B)x@r
C)fdg D)
Answer Key : B Your Response : B (Correct)

Question No. 22
(225 + 226 + 227 + 228) js a multiple of which of the following numbers?
A)15 B)11
c)o D)7

(225 + 226 + 227 + 228) fyFmfaf@d # & fFw dEar & qUrer §?

A)15 B)11
C)9 D)7
Answer Key : A Your Response : A (Correct)

Question No. 23
Pratyush is India's most powerful petaflop super computer which is used in-
A)Critical surgery B)Weather and climate predictions
C)High precision manufacturing D)Scientific calculations in rockets

UcgV, HRA &1 GO ATFeqmel JSTFAld U heged g, forger 3uger IERINCICINY
AR e Rfkcar & B)#HIGH Td Siedg & dAE

C)3ea uRear fafarsor D)he H dATMeieh IUTATT el 3

Answer Key : B Your Response : B (Correct)

uestion No. 24

a~ b’
Find the square root of B +—-+2,
a

A) Allgovernmgptjobs.in



a-b Allgovernmentjobg.in
— 4

2 b a
C) D)
ab a b
b a 2b 2a
a® b’
s+ —+2 = TWHA AT FfFT
a

A) B)
a-b a
4+
2 b a
C) D)
ab a b
b a 2b 2a
Answer Key : B Your Response : B (Correct)

Question No. 25
Rahul ranked 16th from the top and 29th from the bottom among those who passed the
examination. Six boys did not participate in the examination and five failed. How many boys were
there in the class?
A)55 B)50
C)40 D)49

ﬂg?»rtlﬂmﬁ&—cﬁv‘raﬁﬁam’fagaﬁﬁaﬁér@16a‘r3ﬁra‘ﬁﬁzgéwmq'<%|a‘s'asﬁﬁtrﬂzm
# oot g7 forar 3R 9 3w Q| HET H fRda dsH A?

A)55 B)50
C)40 D)49
Answer Key : A Your Response : A (Correct)

Question No. 26
Find the CORRECT statement(s).
(i) Like fractions have the same numerator.
(ii) If the numerator and denominator are coprime, the fraction is in its simplest form.
(iii) Fractions cannot be compared.
(iv) A fraction can have any number of equivalent fractions.
A) Statement (ii) only B)Statement (i) only

C)Statement (iii) only A"govemmgl)ﬂgtggelrﬁts (ii) and (iv) only



el YA I ATT HITAAT|

Allgovernmentjobs.in
(i) TAT AT & 3ia TAT g &

(i) Ffg 3rer 3X g 3FeHTST &, dF fAead 3T TIAdH ¥T H gl
(iif) =T 6T JolaT AL Y ST HehlT|

(iv) T e & FAged fhael off e g Fhdr &

A)drael U (ii) B)&ael & (i)
C)dhad Y (iii) D)hdel &U (i) 3R (iv)
Answer Key : D Your Response : Not Answered

Question No. 27
If the numerator of a fraction is increased by 100% and the denominator is increased by 150%,
then the fraction becomes 16/25. What is the original fraction?
A)5/12 B)4/5
C)7/12 D)5/6

gfe frel fea & i & AT & 100% &1 gig &1 STl & 3R g7 & A & 150% #r gig i S
g, o e &1 A 16/25 81 Srar g1 Ho Bed A Hifew|

A)5/12 B)4/5
C)7/12 D)5/6
Answer Key : B Your Response : B (Correct)

Question No. 28
Find the missing numbers in the following series.

2,7,23,(...), 220
A)70 B)72
C)46 D)21

frafafea doft & saieya dear A K

2,7, 23, (...), 220

A)70 B)72
C)46 D)21
Answer Key: B Your Response : Not Answered

Question No. 29
Number of valence electrons in ClI” ion is:
A)18 B)8
C)16 D)17

CI3mga & AT soFerdl &l FEIT fha=T ghdr g7

A)18 Allgovernmé&tjobs.in
C)16 D)17



Answer Key : B Your Response : Not Answered

Allgovgrmngntiebs.in
Which information is conveyed by a balanced chemical equation?
A)The respective formulas of the reactants andB)The respective masses of the reactants and
products products
C)The total number of molecules involved in theD)AIl of the options

process

gqfod EEfasd AT qanT e SEaRT # cgFd T Srar g2

A) @R AR Scurel & defdT g B) 3fsRept 3R 3cural & Hefta geaAwRT
C)wifshar & emfder L3t 1 Fer TEAT D)fawenl & & @l
Answer Key : D Your Response : D (Correct)

Question No. 31
A and B take part in a 100 m race. Aruns at 5 km/hr. A gives B a start of 8 m and still beats him
by 8 seconds. Find the speed of B.
A)4.20 km/hr B)5.15 km/hr
C)4.14 km/hr D)4.25 km/hr

A 3T B fdr 100 #Hiex $r gts & smor o &1 A, 5 fpdyger fr ara @ glsar &1 A, B & 8 et
Fr 3MIHF goad &ar g 3 Y off 38 8 Adhs F g 2ar &1 B i arar =T 87

A)4.20 Trefieer B)5.15 faref/erer
C)4.14 fravger D)4.25 forsl/eer
Answer Key: C Your Response : Not Answered

Question No. 32
Which day was observed as 'Swaraj Day' in Indian history?
A)August 14, 1947 B)January 26, 1950
C)August 15, 1947 D)January 26, 1930

IR sfagra & fFg fgd & 'Tara fgad@' & §9 & AFIT AT 872

A)14 3TEd , 1947 B)26 S=Taxl, 1950
C)15 3IrEd , 1947 D)26 Si=adl, 1930
Answer Key : D Your Response : D (Correct)

Question No. 33
Read the following information carefully and answer the question given below.

J, P, Q R, S, T, Uand V are 4 married couples sitting in a circle facing the center. The
professions of the males within the group are Lecturer, Lawyer, Doctor and Scientist. Among the
males R (the Lawyer) and V (the Scientist) are sitting together. Each man is seated beside to his
wife. U, the wife of the Lecturer is seated second to the right of V, and T is seated between U and
V. P, the wife of the Doctor, is seated to the immediate left of the Lawyer's wife. Q is not the
doctor. S is a male, and J is a female.

Who sits between V and J?
AT Allgovernmentiobs.in
C)U D)R



FFrafof@a IHeRT F &I F T ﬁ,ﬂgﬁ%ﬁ%@%p{sﬁl 3cX S|

J,P,Q R, S, T, U3V, 4 Rarfed oS, th ged & &g &1 AT Hg ol 85 &1 g & A
UEST HT SITAT GaFdl, gehrel, SiFed T dTfaraw g1 gesi # R (Fhren) 3TV (F=fars) v @y
45 &l 9AF Y ATAT Toodl & T A doT g1 AFUI I oAt U, V & 8 3T gl YT aX a7
g 3T T, U3k V&  dagd dar &l siFey &I geadl P, Thiad &I oAl & 3 &8 30T $37 g1 Q
sfecy @dl €1 S & gV ¢, AR J vs Afgen §

V 3R J & @ & Fe der 82

AT B)Q
C)U D)R
Answer Key : D Your Response : D (Correct)

Question No. 34
In a certain code, 15789 is written as 'EGKPT' and 2346 is written as 'ALUR'. How is 23549
written in that code?
A)ALEUT B)ALGRT
C)ALGTU D)ALGUT

s fARTA geHryr &, 15789 & 'EGKPT' fo@r irar § 3k 2346 &I 'ALUR' for@r sirearm g1 3@
HEHTNT & 23549 1 H& for@r sryam?

A)ALEUT B)ALGRT
C)ALGTU D)ALGUT
Answer Key : D Your Response : D (Correct)

uestion No. 35

A sum of money lent out at a certain rate of Compound Interest,
compounded annually, amounts to Rs.1460 in 2 years and to
Rs.1606 in 3 years. Find the rate of interest.

A) B)

11% 8%

10% 12%

Allgovernmentjobs.in



gfar o wRgfe s @ v AR 7 w 3ur & @ af?r, 2 ast
H 71460 3T 3 ast & 21606 & %%Y%q%{n%%t Qps |

A) B)
11% 8%
C) D)
10% 12%
Answer Key: C Your Response : C (Correct)

Question No. 36
Which of the following is the greatest?
A)34/35 B)15/16
C)19/20 D)24/25

fHFAToi@a # ¥ ST @ a8 991 &2

A)34/35 B)15/16
C)19/20 D)24/25
Answer Key : A Your Response : Not Answered

Question No. 37
A continuous conducting path consisting of wires and other resistances, a switch, terminals of a
cell along which the current flows is called-
A)Loop B)Circuit
C)Path D)Connection

ar, 3 =g gfory, g, v a9 & cfAadl & Faet 990 ve gdd gREEr A6, 5ad O g
YRT garfgd 8idl §, 3T FIAT gl SATdl g7

AT (e79) B)aRuy
C)ART (Path) D)du
Answer Key : B Your Response : B (Correct)

Question No. 38
Read the following information carefully and answer the question given below.

Six boys—M, N, O, P, Q, R and six girls—U, V, W, X, Y, Z are standing in rows in such a way that
each girl faces one boy, not necessarily in the same order. U is to the immediate right of the girl
who is facing Q the boy at the extreme right. Only N is between P and Q. R is to the immediate
left of M and to the immediate right of O. W is facing M and is to the immediate left of V. Z is third
to the left of X.

Which of the followin irls is facing,P? . .
99 %llgovernmen\t)obs.ln
AY B)



C)zZ D)X
Allgovernmentjobs.in
AFrafaf@a Jaa & ege @ ud 3 A T 71T 942 &1 3ca7 &

g ash- M, N, O, P, Q, R 3Rk &g sisfpar- U, V, W, X, Y, Z dfeaal & s vk @3 § &
9?&$a3£rua:a3¢£r3ﬁrsj€mg%,aﬁaﬁ%s¢ﬁwﬁﬁlUsaa's'a?r$b"1$ar§
T E, SN e oR W T ash QF I #g FFI gr Rl Faad N, PIR QF T A &I R, M &
A a5 NT & 3T O & AT T 30T Bl W,Maﬁraﬁrﬂ?ﬁ»—irgq%aﬁrvawmaésﬁr%‘l Z,
X & &€ 3 ¥ I TIE W T3 &

farafafea #& & sia & azHr P A1 3T Az 5T gu g2

A)Y B)V
C)Z D)X
Answer Key: C Your Response : C (Correct)

Question No. 39
The amount of sound energy passing each second through unit area is called-
A)Pitch B)Music
C)Intensity D)Note

gfdr AFs g$ &1 @ e arell eafey Falt i AT # FAT FHPT SATAT §?

A)fa B) &l
C)drgrar D)dAle
Answer Key: C Your Response : Not Answered

Question No. 40
Complete the series.

20, 32, 45, 59, 74, (...)

A)95 B)79
C)90 D)85
Ao & Q@ F

20, 32, 45, 59, 74, (...)

A)95 B)79
C)90 D)85
Answer Key: C Your Response : C (Correct)

Question No. 41
What is a variable resistance used in a circuit usually operated by a sliding contact on a long coil
of resistance called?
A)Rheostat B)Resistor

C)Switch Allgovernm&itdos.in



R aRgy & gyFd 3@ aRad! gfoRIy ®1 F41 Hgr Srdr §, S iy &1 v Fdf el 9 arfaefie

TU& GaRT Farford giar &7 Allgovernmentjobs.in

A R@rEee B)SfeRier

C)feaa D)der

Answer Key: A Your Response : A (Correct)

uestion No. 42

If '+' means 'x', '-' means '+', 'x' means '+' and '+' means '-', then,3x2+4-2+9=7
A)-1 B)-2
Cc)r D)3

IfE '+ & Adew X' ¥, - H Adew '+ ¥, X' & Adew '+ W '+ w Ader -, A, 3 x 2 + 4 -
2+9 =7

A)-1 B)-2
C)1 D)3
Answer Key : A Your Response : A (Correct)

Question No. 43

In Global Innovation Index rankings 2017, India has securedthe __ position.

A)50th B)60th

C)40th D)70th

dRa®w Fa@R gawe T 2017 #, aRa F T wred AT gl

A)50at B)60ar

C)40at D)70ar

Answer Key : B Your Response : Not Answered
Question No. 44

An alloy is a/an-

A)Compound B)Homogenous mixture

C)Heterogeneous mixture D)Element

weagues gl

INEUEED B)&#Tef fAsmor

C)fawAmfr fAsmor D)de

Answer Key : B Your Response : C (Wrong)

Question No. 45
Which of these sets of numbers are in continued proportion?
(i) 0.4, 3.6, 3.24

(i) 7, 21, 63

(iii) 2.4, 9.6, 38.4

A)(ii) and (iii) B)(i) and (ii)
C)(i), (ii) and (iii) D)(ii) only

TGt & g7 WHGN A @ Hled @ G I (continued proportion) H g?

() 0.4, 3.6, 3.24 Allgovernmentjobs.in



(i) 7, 21, 63 Allgovernmentjobs.in

(i) 2.4, 9.6, 38.4

A)(ii) 3R (i) B)(i) 3T (ii)
C)(i), (ii) 3R (i) D)arael (i)
Answer Key : A Your Response : C (Wrong)

Question No. 46
If 351 means 'students like maths'; 197 means 'we are students' and 748 means 'they are parents’,
what is code for the word 'we'?
A7 B)8
cn D)9

gfe 351 &7 AdAd 'students like maths' & 197 &T #Addd 'we are students' 3iIT 748 &7 #Adde
'they are parents' g, dl gl AdAd 'we' gIIT?

A)7 B)8
C)1 D)9
Answer Key : D Your Response : D (Correct)

Question No. 47
Pipe P is twice as fast as Q, and Q is twice as fast as R. Find the ratio of the time taken by P, Q
and R to fill a cistern.
A4:1:2 B)4:2:1
C)2:1:4 D)1:2:4

arsy P, Q ¥ AT a9 §, M Q, R & W&AT adf &1 P, Q 3T R @RT T TH H A A ofara
arel §HI FT AAUTT AT RSV

Ad :1:2 B4 :2:1
C2:1:4 D)1:2:4
Answer Key : D Your Response : Not Answered

Question No. 48
The traditional harvesting festival celebrated in Assam is-
A)Pongal B)Bohag Bihu
C)Tusu Parab D)Makar Sankranti

A A AART AT ATl IRURS HHA Hels 3cdd i AT g7

A)dieTer B)serr fog
C)eqg e D)A&T Hehifd
Answer Key : B Your Response : B (Correct)

Question No. 49
A father has a 12 year old son. He was thrice his son's present age when the son was born. How
old is the father now?
A)40 years B)60 years
C)46 years D)48 years
Allgovernmentjobs.in



Teh TUAT @1 UHh 12 a¥ &7 9T gl 99 & SoH & A a1 &1 A0, qF H gAY dr oAl T
AN ar 1 adae 3y fHwaAr 82 Allgovernmentjobs.in

A)40 af B)60 a¥
C)46 ay D)48 a¥
Answer Key : D Your Response : D (Correct)

Question No. 50
Simplify: 1/(cosec 8 - cot 0)
A)cosec 6 + cot 6 B)sin 6 + cos 6

C)cosec? 0 + cot? 0 D)cosec 6 - cot 6

X hIfSFT: 1/(cosec 6 - cot 8)

A)cosec 6 + cot 6 B)sin 6 + cos 6
C)cosec? 8 + cot® 6 D)cosec 6 - cot 6
Answer Key: A Your Response : A (Correct)

Question No. 51
A grandfather and his granddaughter have their ages in the ratio 9 : 2. Sum of their ages is a
prefect square. The difference in their ages is a multiple of 11. What are their ages?
A)95, 25 B)90, 20
C)99, 22 D)72, 16

Teh Grersl 3T 3aeht Ol &1 MY &1 39T 9: 2 §| 3% AT &I INT Ueh YOI g9 HEAT gl 3AHT
3MF &1 AT 11 &1 0TS g1, df AR 3Y ATT HIoC|

A)95, 25 B)90, 20
C)99, 22 D)72, 16
Answer Key: C Your Response : C (Correct)

Question No. 52
How many electrons are there in the outermost shell of carbon?
A3 B)5
C)6 D)4

FIdT & e FA H fFda saFela gla g7

A)3 B)5
C)6 D)4
Answer Key : D Your Response : D (Correct)

Question No. 53
Two successive discounts on the labelled price of Rs.6000 reduces the sale priceto , if the
discounts are 10% and 20% successively.
A)Rs.4320 B)Rs.4000

C)Rs.4230 D)Rs.4200

g Srar g, Ife 10%

%.6000 & o§d Hed WX &I HAET Pl &I do6 ¥ A% #ed g
3T 20% & HAS T TS @

A)T.4320 Al B)%,4000
C)%.4230 governm%r)w{g?%%.m



Answer Key: A Your Response : A(Correct)

Allgovgimertighs.in
In which parts of the plant photosynthesis takes place?
A)Branches and trunk B)Roots and root sap
C)Leaf and other chloroplast bearing parts D)Leaf and stem

ThTeT FAVOT iy & g AT # giar g7

A)m@t AR aF A B)STSt 3T 15t & T H
C)dcehr 3 FelRicemee & Hisedll arer 3 $E #  D)Fecl 3N oo &
Answer Key: C Your Response : C (Correct)

uestion No. 55

Find the standard deviation of the first 'n' natural numbers.

A) B)
n’ —1 n(2n+1)
12 3
C) D)
n(n+1) n+1
12 6

A) B)
n’ —1 n(2n+1)

12 3

C) D)
2
n(n+1) n +1

12 6

Answer Key: A Your Response : Not Answered

Question No. 56
The top of pistil in a flower is termed as-
A)Stigma B)Stamen
C)Pollen D)Ovule

Allgovernmentjobs.in



gsq A FEhET & MY HET AT FIT FHEl AT 82

A)afdsmr (Reaam) Allgovernmeitfass.in
C)wrer D)dIeTs
Answer Key: A Your Response : C (Wrong)

Question No. 57
Find the ODD one out from the given options.
A)Heart B)Ear
C)Eye D)Nose

few v fawedl & ¥ rwerd & oA

A)ged B)aleT
C)3rg D)
Answer Key : A Your Response : A (Correct)

Question No. 58
Three of the following four of alphabets and numerals have the same relationship between their
elements as in the case of the pair PRIVATE : 8734265 and hence form a group. Which of the
following does not belong to the group?
A)PRATE : 87465 B)PAVER : 84257
C)TAPER : 64852 D)VIPER : 23857

fFrafaf@d ar & @ &9 & ert R i & dro dwr & d@&9yw g, Srar R gIA PRIVATE:
8734265 # ¥ 3 38 UBR UH TAF 47 & FFAfaf@a & F w9 @1 3@ g ¥ wefva adf €2

A)PRATE : 87465 B)PAVER : 84257
C)TAPER : 64852 D)VIPER : 23857
Answer Key: C Your Response : Not Answered

Question No. 59
If south becomes south east and north east becomes north and so on. What will be the south west
and west become?
A)South and south west B)East and north east
C)West and east D)North and north west

g gfaror sgeaey &fEor qd 3 3caR @ deee 3cal g1 ofar §, 3 d v @efr feend sl
g1 cfaror oRg#w 3T oRTd & Tye W ST A G ghef?

A)eferor 3R gferor giRes B)7d 3R 3ok qd
C)ufRe# 3R qd D)3cR 3R 3ceR IRaH
Answer Key : A Your Response : A (Correct)

Question No. 60
Which of the following is a milk protein?
A)Galactose B)Rennin
C)Glycine D)Caesin

rFEAfafea & @ #ia @1 g &1 N §?
A)deerst

All Bmﬁ?tr) '
CyraTeRt governm%%s.m



Answer Key : D Your Response : A (Wrong)

Allgovgimertigps.in
A homologous series is a series of carbon compounds that has-
A)Different number of carbon atoms and contain theB)The same numbers of carbon atoms and contain the
different functional group same functional group
C)Different number of carbon atoms but contain theD)The same number of carbon atoms but contain
same functional group different functional group

AT oY, FreaT ST Hr vew TH@ Sof § SEa |
A)ITCTET 3TeleT HEAT A HEe] WAT] UT S &, 3INB)HAW HEAT H Fed WAV 9T S0 8, IR FAT

C)3eldT @l HEIT H Heel WAV UIT S §, ThedD)HAE HEAT H Flelel WAT] 9T S §, fhee el
A FHAcHS HHE 9T ST g T FATcHS HHE 9T S 8
Answer Key: C Your Response : Not Answered

Question No. 62
The liver oil of fish is rich in-
A)Both Vitamin D and vitamin A B)Vitamin E
C)Vitamin A D)Vitamin D

AT & offlax 3T (liver oil) & TG AET H T B

A)aiat fJerf@sr D 3k @ A B)ferf@=T E
C)dafaa A D)@t D
Answer Key : A Your Response : D (Wrong)

Question No. 63
Loss of water from the leaves of a plant through stomata is called -
A)Expiration B)Perspiration
C)Suspiration D)Transpiration

aier & gfcaat & Alse T & ATLTH @ gl dTell ST §Iia I FAT Hgl ST 872

A) T :2g@e1(Expiration) B)uEdee(Perspiration)
C)3Tarst & AU ad=1(Suspiration) D)arsuicasi=A(Transpiration)
Answer Key: D Your Response : D (Correct)

Question No. 64
The path followed by a projectile is called its -
A) Territory B)Trajectory
C)Translatory D)Treasury

TH gaicd(projectile) GaRT Tel T T HI FIT FHgl SATdT g2

A)Rer B)¢SeclY
C)giaeiedr D)gsHY
Answer Key : B Your Response : B (Correct)

Question No. 65

Allgovernmentjobs.in



In a A ABC, 2B = 90° AB =5 "Eﬂil&‘i%}%tﬁﬁ‘ﬁﬁé‘h‘tjﬁfb‘% ﬁ.|BC is not
possible if BC ~AC =

A) B)

2.5 cm 4.8 em

C) D)

6.5 cm 4 em

A ABC H ®IUTB = 90°, AB = 5 G#I| A ABC & {9 T4 =T8T &

afg BC ~AC = |
A) B)
2.5 HHY 4.8 HH
C) D)
6.5 HHY 4 A
Answer Key: C Your Response : Not Answered

Question No. 66
________ is an aperture which controls light passage in the eye.
A)Blind Spot B)Sclerotic coat
C)lris D)Pupil

UF GaRa& (aperture) g, ST 3@ & TS & AR & @IfFT Far g

A)3itr g (Blind Spot) B)TFerIes i
C)3msRa D)gctelr
Answer Key : D Your Response : C (Wrong)

Question No. 67
A train 110 m long is running at a speed of 60 km/hr. In what time will it pass a man who is running
at 6 km/hr in the direction opposite to that in which the train is going?
A)7 seconds B)10 seconds
C)6 seconds D)5 seconds

110 #Hr ot T TeEmsr 60 mﬁﬂll@%\?&ﬁlﬁeﬁ‘ﬂ]d{%.m Ig 39 <gfadad & fFaa gag § uR
FLIT A e T fAuda fGar F 6 frAvger fr gt @ gls @ &2



A)7 T3 B)10 s
C)6 Hehs Allgovernmeénij@ss.in

Answer Key: C Your Response : C (Correct)

Question No. 68
Who among the following won the Men's 1500 metres race in the Jakarta Asian Games 20187
A)Manijit Singh B)Neeraj Chopra
C)dJinson Johnson D)Tejinderpal Singh Toor

STehTdl TGS W 2018 & fAFEAfaf@d & & g gesi &r 1500 #Hey #1 gls Sid?

A)Fsia &g B)siRT @gst
C)fS=aa STt D)aifsiexurer &g T
Answer Key: C Your Response : D (Wrong)

uestion No. 69

Water existsas in its solid state.

A)lce B)Steam

C)Foam D)Clouds

el S gEAT H & T FH UT ATCT gl

A)gh B)arsq

C)zrer D)sicer

Answer Key: A Your Response : A (Correct)

Question No. 70
What is the minimum voting age for women in India?
A) Twenty-one B)Twenty-two
C)Sixteen D)Eighteen

HRT # ARt & fIT A &1 #gAdH Mg FAT §7?

A)zFHE B)sTSH
C)dreTg D)313RE
Answer Key : D Your Response : D (Correct)

Question No. 71
Which of the following ratios is the largest?
A)2:3 B)5:7
C)3:5 D)3:4

fFFafaf@d & @ #la a1 3gurd qad a37 §?

A2 :3 B)5 : 7
C)3:5 D)3 : 4
Answer Key : D Your Response : D (Correct)

Question No. 72
If '+' means 'X', '-' means '+', 'x' means '+' and '+' means '-', then, 8 x4 -6 +3+ 1 =7
A)-1 B)5

C)4 Allgovernmé&®tjobs.in



g '+ & Adld X' §, - H Aded '+ §, X' H AdAS '+ AT '+ F AQeG ' F, L, 8 x 4 -6 <+

3+1=7 Allgovernmentjobs.in

A)-1 B)5

C)4 D)2

Answer Key : B Your Response : B (Correct)

Question No. 73
Which word will best complete the relationship given below?

Jungle : Zoo :: Sea : ?

A)Water B)Aquarium
C)Fish D)Harbour

i @1 ereg A fGT T Gay &1 Fgafedad o @ qob e

Starer : RfgFrEY o owHge : ?

A)Trett B)vFaRTH
C)HATer D)se@Te
Answer Key : B Your Response : B (Correct)

Question No. 74
In which of the following amendments of the Constitution of India was Delhi designated as
National Capital Territory (NCT)?
A)69th Amendment Act B)74th Amendment Act
C)63rd Amendment Act D)76th Amendment Act

RO dfaure & faFad # & g MY garT fgedl &I IsEa Tourer &9 (NCT) &1 gar fgar
argr >T?

A)69d et fafeTa B)74d @it fRfaas
C)63d Ty fafaas D)76d @ 3ffafEgs
Answer Key : A Your Response : D (Wrong)

Question No. 75
Jhelum, Chenab, Ravi, Beas and Sutlej are the tributaries of-
A)Brahmaputra B)The Indus
C)Ganga D)Yamuna

o, Ree, I, s AR aas T wgras Afgar §1

A)SEATT B)faYy
C)3rem D) &1
Answer Key : B Your Response : B (Correct)

Question No. 76
Where is Diffo Bridge located which was recently inaugurated?
A)Maharashtra B)Andhra Pradesh
C)Arunachal Pradesh D)Karnataka

fS®r gor, fSraert grer & & 3g@res F(éél}g%%ﬁr%qgggt%%m



A)#FERTSE B)3meYr weer
C)3UTrarel Ferer Allgovernmenisbs.in

Answer Key: C Your Response : Not Answered

Question No. 77
Which of the following diseases is NOT immunised by triple antigen?
A) Typhoid B)Whooping cough
C)Diptheria D)Tetanus

farafaf@a & @ sia a1 o1 Kua wdaa ganrT gfaxfara a8 g2

A)3TT S (TEHISS) B)aTell @i
C)fScefiar D)feearar
Answer Key : A Your Response : A (Correct)

Question No. 78
Pepsin is an enzyme secreted in the-

A)Liver B)Mouth

C)Kidney D)Stomach

aftee H grfad gl arel Ush USeH gl

A)THT B)¥E

C)arel D) 3THARRT

Answer Key : D Your Response : A (Wrong)

uestion No. 79

Simplify: 1035 {%(71 + 65)-152]

18 20

18 20

Allgovernmentjobs.in



C) D)

Allgovernmentjobs.in
12 24

Answer Key: C Your Response : C (Correct)

Question No. 80
Find the missing group of alphabets in the following series.

BB, ET, HR, KP, (...), QL
A)PQ B)NN
C)QP D)UV

fAFafaf@d Aot & yquityd eR-gqg A9 ]

BB, ET, HR, KP, (.), QL

A)PQ B)NN
Cc)QP D)UV
Answer Key : B Your Response : B (Correct)

Question No. 81
has been awarded with the Padma Bhushan award in 2019.

A)Ashok Laxmanrao Kukade B)Dr. Bhupen Hazarika
C)Pranab Mukherjee D)Balwant Moreshwar Purandare
2019 # HI 93T H§UT WERR & FEATT TRAT 73T §

A)3RNF AEHIRTT Fehs B)3T. $[de gatfenr

C)uTs H@si D)deidd AR JeX

Answer Key: A Your Response : A (Correct)

Question No. 82
Substances whose odour changes in acidic or basic media are called-
A)Both acidic and basic indicators B)Acidic indicators
C)Olfactory indicators D)Basic indicators

VO gery, ST e JFEAT AT T HEIH H g Sdl §, 376 FIAT Hgl SIaTl 872

A)3FET 3R &0 I alat B) 3 el Haeh
C)enT g2eh D)aTRT Fah
Answer Key: C Your Response : C (Correct)

Question No. 83
In which of the following cities is the Indian Institute of Petroleum situated?
A)Kochi B)Kandla
C)Visakhapatnam D)Dehradun

Allgovernmentjobs.in



sf0sga sferecyge 3w ugifoad saad & ¥ fra agy # RRya g2

A)Fiea Allgovernméirjets.in
C)faemamg# D)&eiget
Answer Key : D Your Response : Not Answered

Question No. 84
Which of these is directly proportional to potential difference?
A)Resistivity B)Power
C)Current D)Time

R ¥ FiT Rwaiay F FAGGI T §?

A)gfaierendr B) e
C)arT D)aHT
Answer Key: C Your Response : C (Correct)

Question No. 85
Which of the following vitamins helps in normal clotting of blood in human beings?
A)Vitamin K B)Vitamin D
C)Vitamin C D)Vitamin A

Frafaf@ad & @ w9 ar fGerf@a A=al & IFd F gFF FAS T AT 9fhar & Ace HIar g7

A)fgeaf@a K B)f@erf@= D
C)fgerf@er C D)ferf@s A
Answer Key : A Your Response : A (Correct)

Question No. 86
Complete the series.

5,7, 25, 49, 125, (...)

A)346 B)625
C)245 D)343
Aofl & QT H

5, 7, 25, 49, 125, (...)

A)346 B)625
C)245 D)343
Answer Key : D Your Response : D (Correct)

Question No. 87
Complete the series.

2,5,10, 17, (...)

A)29 B)21

C)27 D)26
Allgovernmentjobs.in
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2,5, 10, 17, (...)

A)29 B)21
C)27 D)26
Answer Key : D Your Response : D (Correct)

Question No. 88
On selling 17 balls at Rs.720, there is a loss equal to the cost of 5 balls. What is the cost price of
a ball?
A)Rs.45 B)Rs.40
C)Rs.60 D)Rs.55

17 &1 &1 €.720 # S99 9T, 5 IET & HT Hed & SW& FHI gl gl &1 T g &1 HT HeT A
FHifaT|

A)T.45 B)%.40
C)%.60 D)%.55
Answer Key: C Your Response : C (Correct)

Question No. 89
The unique property of carbon to form bonds with other atoms giving rise to large molecules is

known as-
A)Ductility B)Induction
C)Malleability D)Catenation

93 Y] g & TIT e GRATISNN & Y IY TA & Sl & AHefacdd 0T &I FIT Hgl Sl g7

A)dearefierar (Ductility) B)WRUT (Induction)
C)3mardadieliadr D)#@dl (Catenation)
Answer Key : D Your Response : D (Correct)

Question No. 90
If D = 4 and COVER = 63, then BASIS = ?
A)40 B)60
C)30 D)50

gfe D = 4 3T COVER = 63 §, ar BASIS = ?

A)40 B)60
C)30 D)50
Answer Key : D Your Response : D (Correct)

Question No. 91

Choose the figure that best represents the relationship among the
classes given below.
Keyboard, Monitor, Mouse, Scanner

A Allgovernméntjobs.in



Allgovernmentjobs.in

FT IS H, At FAraf@a Aot F v F gew 7
Hﬂhﬂmﬁﬁﬁﬁﬁ?ﬁa‘n
FrarE, AfeT, ASH, Fhall

C) D)

Answer Key : D Your Response : D (Correct)

Question No. 92
With which of the following sports is Sania Mirza associated?
A)Swimming B)Boxing
C)Cricket D)Tennis

rfaar Ber 597 O fFg @ ¥ gefaa §2

A)RTRY B)HeFehaTolt
C)fshehe D) AT
Answer Key : D Your Response : D (Correct)

Question No. 93
Which least number when divided by 12, 15, 20 and 54 leaves a remainder 8 in each case?
A)540 B)548
C)556 D)532

gg ol ¥ oIy gear Arg fifew, f5a 12, 15, 20 31X 54 @ fAwfaag @ W 9% ATHS & 8
AY FI4dT &7

A)540 B)548
C)556 D)532
Answer Key : B Your Response : B (Correct)

Allgovgromentjgps.in



If 0.034 = x/10, find the value of 'x'.

A) 34 Allgovernméijbbs.in
C)340 D)0.34

gfeg 0.034 = x/10 @, ar 'x' &7 #AF AT HIfo0|

A)34 B)3.4
C)340 D)0.34
Answer Key : D Your Response : D (Correct)

Question No. 95
Weight of an object is directly proportional to its-
A) Specific heat capacity B)Mass
C)Translucency D)Magnetic power

& IhAIIATA grar Bl

A)faferse FeAT ariar B)gca AT
C)urRaATAaT D)geehar erferd
Answer Key : B Your Response : B (Correct)

Question No. 96
'Drag' is the name given to frictional forces exerted by what?
A)Gel B)Fluids
C)Resins D)Chemicals

SIH & frEs ganT oMU S grel 99T i & Fr A1H AT AT 82

INECH B)ga
C)faa D)3
Answer Key: B Your Response : Not Answered

Question No. 97
Which of the following is NOT a ozone depleting substance?
A)Methyl chloroform B)Halon
C)Sodium silicate D)Methyl bromide

Frafaf@a & O Fi9 I g1 N gIFHT T8T 82

A)fBTser FeiRInET B)&eie
Cc)afsan fafeee D) RuEe siAES
Answer Key: C Your Response : Not Answered

Question No. 98
D, E, F are midpoints of the sides BC, CA, AB of a AABC. If area of AABC is 20 cm?, then find
area of the trapezium FBCE.
A)12 cm? B)10 cm?
C)15 cm? D)5 cm?

AABC #T 83t BC, CA, AB & #tafdg waAerfdg D, E, F g If& AABC 7 &% 20 Faf Jaf

81, @ §HeEs agees FBCE &1 1 iR vdfniiBatjobs.in
A)12 Tat =T B)10 &sT T#r




C)15 Far = D)5 gat qa
Answer Key: C A||govern mentjobgg@nResponse : D (Wrong)

Question No. 99
Two varieties of tomatoes are bought in the ratio 2 : 3, where the price of first variety is twice that
of the second. The varieties are mixed and sold at Rs.17.50 per kg, resulting in a profit of 25%.
Find the costs of the two varieties before selling.
A)Rs.12, Rs.6 B)Rs.20, Rs.10
C)Rs.22, Rs.11 D)Rs.24, Rs.12

TATCT &1 & fREd 2:3 & Igurd & @S Sl 8, STEl ugell fhedA &1 Fed g@d @ AT giar g
QAT fREAT & AT fear amar § 3R 378 $.17.50 9fa fealad & #9 9X 991 Jar g, oas
IROUIHAETET 25% T A1H §IaT gl 99 § Ugel Gl [hEAT &1 HT Hed AT HIiav|

A)E.12, %.6 B)%.20, .10
C)%.22, &.11 D)%.24, ¥.12
Answer Key : B Your Response : Not Answered

Question No. 100
Find the largest number that will divide exactly the product of four consecutive integers.

A)12 B)6

C)8 D)24

ag 931 ¥ 991 FEIT AT ffST, S IR FHATTT QUIThT & JUTAhe HI qoiadr faafara s Top
A)12 B)6

C)8 D)24

Answer Key : D Your Response : D (Correct)

Allgovernmentjobs.in





